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A portion of a repetitive waveform, v(), is shown above.
a)  Find the period of v(1).

b)  Find the average power delivered by the above signal when driving a 3 €2
resistor.

soln: @) One period lasts from +t=oOps. *o Gus.
T= bug ~oOus = b us

b) We W“*UG".F[)/ the power in each osegment
by the fraction of one Pem‘,od that each
Segmen{: lasts. Power = V?'/R

For t=0 @ 2u8, pP= (_I?._V)?- raction of /Jert'qd
32 (3 248 = L,
Cus S

For £=2p5 40 3us, p=0. Fraction of peried is é_

2z
For +t=3us b Gus, F:(-_-_G_f{).» Fraction dIC/Deffad
32 ¢s 3us = L.
bus <

Pave = !.ffé)i‘ (,_3'-) * D(é')+ %(%)W = tW+6W =22W/.



